vector Log,,[G]

vector Log,[G]

vector Log,,[G]

vector Log,,[G]

vector Log;[G]

m;=100. MeV (mass 1)

0Ff
[ @ Point, 89 configs
-1re W Z3,51 configs ]
[ = & Replaced, 51 configs ]
20 . .
I e ®
3L .. .. ]
B [ i
4L . . ]
5 PY Py ]
0 10 20 30 40 50 60
t
m;=210. MeV (mass 4)
0 :
oy ]
- o]
-2r o e |
[ ] L]
L -. ..
L (N o
4+ |' i
iﬁﬁiﬁfm ﬁf-ﬁiﬁﬁi
6! ttf it ]
_8 L L | L | L L L L | L L L L | L L L L | L L L L | i
0 10 20 30 40 50 60
t
m;=290. MeV (mass 7)
0= :
o ]
. ]
2r o .|
L ] L]
L - .I
L [ [ 4
4t 'u." !".."- ]
Al il H |
_8 - -
0 10 20 30 40 50 60
t
m;=350. MeV (mass 10)
0F e ‘
o ]
] ]
2r o e |
[ ] [ ]
: .-. -.
L}
4+ % i
— " -

6 i i i
_8 - -
0 10 20 30 40 50 60

t
m;=450. MeV (mass 13)
0 T
% ]
= o]
-2r o .|
[ ] [ ]
[ e o
L ..
4 .'. 4
L . "..
61 i
8l % i
0 10 20 30 40 50 60

t

vector Log,,[G]

vector Log,[G]

vector Log,,[G]

vector Log,,[G]

vector Log;[G]

m;=140. MeV (mass 2)

OfF
_1Fe b
F e e
“2r o ®
[ . ]
-3 :, -.. ..- b
4t g @
f%%%@} HHHH}H H}HHHH g%’
-5k b
_6F b
=Tr L el S (O S S U e P E SR 1
0 10 20 30 40 50 60
t
m;=240. MeV (mass 5)
0 :
oy ]
o '. .':
. ®
. 0
-.. ..-
4L '.i.!gf |
o
8L i
0 10 20 30 40 50 60
t
m;=310. MeV (mass 8)
0=
oy
oL " .':
[ ] e 7
L ] s
..- -.. il
4L "ll » 4
-6 , g%fi % H#‘ iﬁil.r, :
sl ]
0 10 20 30 40 50 60
t
m;=380. MeV (mass 11)
0 e
oy ]
ok '. .':
[ ] [ ]
L . o
A b -.' '.l
I % o° 7
L
" o
—6Ft i
‘I Sagput r 1
X I I as ]
_87 L | L | L L L L \”wIw”w L | L L L L | L L L L | L ]
0 10 20 30 40 50 60
t
m;=510. MeV (mass 14)
=g |
oL '. .':
[ o
[ -.. -.-
—4 [ ] [ -
[ -..' '.'-
ol H ,
0 | 10 20 | 30 o 40 | 50 60

vector Log,,[G]

vector Log,[G]

vector Log,,[G]

vector Log,,[G]

vector Log;[G]

m;=180. MeV (mass 3)
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m;=640. MeV (mass 17)
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m;=670. MeV (mass 18)
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